Caampron
Power & force

Mﬂﬂl-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne ApTUKYN HanmeHoBaHWe K-8o Ne ApTUKYN HanmeHoBaHue K-eo
1 20340060130 Haknagka pykoAaTku 1 8 20040070780 [alika KpenneHuA BEPXHEN PYKOATKM 2
2 70500550130 BepxHaAs paboyan pykosTKa 1 9 70230090000 KpoHLITeNH gns pyyku ctapTepa 1
3 70540083780 Pblyar BbikAtoveHMA geuratena 1 10 | 70520210130 HukHsa paboyas pyKosTKa 1
4 20030030000 OrpaHunymTensb pblyara 1 11 | 20240020000 XomyT KpenaeHus Tpoca 1
5 70050120000 KpoHLiTelH KpenneHua Tpoca 1 12 | 60040090000 Bont M8x30 2
6 70810050000 Tpoc BbIKAOYEHMA ABUraTeNa 1 13 | 20040050780 [alika KpenaeHUA HUKHEN PYKOATKU 2
7 60110040000 Bont M8x50 2 14




Caampron
Power & force

Mﬂﬂl-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne Ne K-so
ApTUKyn HanmeHoBaHue K-Bo ApTukyn HanmeHoBaHue

1 20160120000 3arnyLwKa geku 1 13 60100030000 bonT 3/8-24-50 1

2 70740651130 Kopnyc (aeka) 1 14 | 20110100000 | Hanpasnstowan 60KkoBOro Bbibpoca 1

3 20590020000 BTynka Tpoca 1 15 20120080000 KpblwKa oTceka BbiIbpoca Tpasbl 1

4 70070290000 JleBblli KPOHLWTENH KpenneHus 1 16 70060060130 KpoHLwTelnH 1
pabouyeli pyKoOATKM

5 20460010000 LWTyuep AnA NOAKAOYEHUA WAAHra 1 17 60390070000 Mpy*KnHa 1

6 60300030000 WnanHT 2 18 70030060000 Ocb KpenaeHuna KpblLKu 1

7 70180270000 TAra pblyara peryampoBKU BbICOTbI 1 19 60200580000 Mpoknaaka 1
KOLleHnA

8 60410080000 MpyXunHa TArm 1 20 20490090000 ®PurKcaTop KpbILLKK 1

9 60410080000 bont M8x25 3 21 60380600000 Mpy*unHa PpukcaTopa 1

10 70140390000 ApanTep HOXa 1 22 20650200000 Kopnyc ¢ukcatopa 1

11 | 70131090000 Hox ana Tpasbl 1 23 70250110000 | 3ybuaTbiit cekTOp pblyara 1

perysMpoBKM BbICOTbI KOLIEHUA
12 70040070000 LLlaiba HoxKa 1 24 70070300000 MpaBblii KPOHLITENH KpenneHna

pabouelt pyKosaTKK




Caampron
Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 20620030230 | Konnak nepeaHero Koneca 2 4 60180110000 LWawba 14,2x20,7x0,5 2
2 60150090000 | larika M8 2 5 70840170000 OcTb NepegHMX Konec 1
3 20880102000 | MNepepgHee Koneco 2 6




Caampron

Power & force

MI'IJTI-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne ApTUKYA HanmeHoBsaHue K-Bo Ne ApTUKYA HanmeHoBaHue K-80
1 20620060230 | Kosnnak 3agHero Koseca 2 6 20270010780 Pyuyka pblyara peryamMpoBKU BbICOTbI 1
2 60150090000 | lavka M8 2 7 20430030060 BTynka 3agHei ocu 2
3 20880082000 | 3agHee kKoneco 2 8 70290370000 JleBan HaknazKa KpenneHusa ocu 1
4 60180110000 | LWWarba 14,2x20,7x0,5 2 9 70290050000 MpaBaa HaKkNaAKa KpenaeHua ocu 1
5 70850541000 | Ocb 3agHuX Kosec 1




Caampron

Power & force

MﬂﬂlOCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 20050080003 | HuKHAA YacTb TpaBOCOOPHMKA 1 6 60300030000 Wtnot 2
2 70040100000 | KeaagpaTHas waliba 4 7 60220010000 LWaiba 2
3 20080090000 | BepxHsAs yacTb TPaBOCOOPHUKA 1 8 70030050000 OcCb KpbILIKK OTCEKA 1
4 21010010000 | CpepHssa yacTb TpaBOCOOPHMKA 1 9 60380240000 MpyXMHa KPbILWKK 1
5 20380090000 | KpbiwKa oTceKa TpaBocbopHUKa 1 10 70010090000 PamKa TpaBocbopHMKa 1




Caampron

Power & force

MﬂﬂlOCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne Ne K-Bo
ApTUKYn HanmeHoBaHue K-Bo ApTUKyn HanmeHoBaHue
1 75430120000 CrapTep B cbope 1 7 60080260000 LLinnnbka KpenneHusa ctapTtepa 1
2 60130020000 lalika M6 3 8 25040110000 Kpblab4yaTKa MmaxoBuKa 1
3 25010010000 KoKyx maxoBuKa 1 9 75390130000 MaxoBuk 1
4 60140050000 lalika M14x1,5 1 10 60150100000 LLnnnbka KpenneHua ctapTepa 2
5 75210010000 CTaKaH MaxoBMKa 1 11 | 75380070000 BbikntoyaTenb 3axuraHma 1
MeXaHM3MOM TOPMO3a MaxoBMKa
6 75370020000 MarneTo 1 12




Caampron

Power & force

Mﬂﬂl-OCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogens: LM4622

16
8 —17

18

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 75500040000/ KapTep 123 cm3 1 16 25170050110 Mpo6ka TonansHoro 6aka 1
75500110000

2 75100020000 KnanaH canyHa 2 17 80010070000 3arnywka 1
3 75720150000 MpoKnaaKa KpbILWKK canyHa 1 18 60440340000 KnanaH canyHa npo6bku 6aka 1
4 75400010000 KpblwKa canyHa 1 19 60140020000 laika M6 1
5 75150010000 MacnooTtgenutenb 1 20 75070010000 Pblvar perynstopa o6opoTtos 1
6 75040020000 3a4HAA HaKNazKa KapTepa 1 21 60060730000 bont M6x23 1
7 25030030000 LWnaHr canyHa 1 22 60300040000 WnanHt 1
8 75160010000 TAra pblyara perynatopa 1 23 60360080000 CanbHuK 6x11x4 1
9 60410050000 Mpy*KnHa TATK 1 24 | 60200070000 LWatba 6,5x15x0,5 1
10 75300010000 KpoHLwWTenH KpenneHus b6aka 1 25 75290010000 Ban perynatopa o6opoTos 1
11 60230010000 XomyT wnaHra 1 26 75320010000 KpoHLwWTenH KpenneHus b6aka 1
12 25160030000 LLnaHr TonansHbIM 180 mm 1 27 71160010000 MaHenb pblyara perynatopa o6opoTos 1
13 60230020000 XoMmyT wWwnaHra 1 28 60410470000 MpyKnHa 1
14 170010017-0001 | TonausHbIN GUALTP 1 29 75360010000 KpoHwTenH 1
15 25180120000 TonnusHbIM 6aK 1 30




Caampron

Power & force

Mﬂﬂl-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 75470020000 PacnpeaBan 1 7 75180010000 Cyxapb KnanaHa 2
2 75250010000 Tapenka TonKaTena KnanaHa 2 8 60380080000 Mpy»KMHa KnanaHa 2
3 75350010000/ Tonkatesb (WTaHra) KaanaHa 2 9 60360130000 MacnocbeMHbIi Koanavok 2
P-65-08-04-000-00
4 75260010000/ Hanpasnstolas Tonkatenen 1 10 75170030000 BnyckHoM KnanaH 1
P-65-08-05-000-00
5 75230010000 Kopombicno KnanaHa 1 11 75190030000 BbinycKHOM KnanaH 1
6 DAF004 Kopombicno knanaHa 1
KOMMNAEKT




Caampron
Power & force

Mﬂﬂl-OCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogens: LM4622

_,'1
e

=
8

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-80
1 TWO00040007 NopweHb 61x46 KOMNAEKT 1 10 75720240000 MpoKNazKa KpbIWKK KapTepa 1
2 130070098-0001 | Komnnekrt nopLluHeBbIX Konew, 1 11 60280030000 LWtndT KapTepa 1
61x1,5
3 75120030000 MopweHb 61x46 1 12 75280020000 MnacTuHa KpenneHua perynatopa 1
4 60400020000 CTonopHoe Ko/bLo 2 13 75520020000 LleHTpo6exHblii perynsatop 1
obopoTtos
5 60310030000 Manew nopwHsa 1 14 75240130000 KpbllWwKa KapTepa 1
6 75460020000 WaTtyH 1 15 380650335-0001 CanbHuK 25x38x7 1
7 380650341-0001 | CanbHuK 22x35x7 1 16 60060590000 Bont M6x30 8
8 521010010501 MogwnnHmnk 6205 1 17 60061020000 bont gna cavea macna 1
9 75510600000 KoneHsan 1 18 25200100110 MacnosannsHasa ropnosBuHa 1




Caampron
Power & force

Mﬂﬂl-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne ApTukyn HanmeHoBaHue K-Bo No ApTUKYN HanmeHoBaHue K-80
1 60060530000 bont M6x14 4 10 75730100000 Mpoknaaka noa Kopnyc puabTpa 1
2 75220020000 Hapy»Has KpbllKa K1anaHos 1 11 | 75410040000/ | Kap6iopatop 1
75410390000

3 75720070000 MpoKNaaKa KpbILWKX KNanaHoB 2 12 25210020110 Mpatimep 1
4 75220010000 BHYTpeHHAA KpbllKa KNanaHoB 1 13 75730030000 Mpoknazka nog Kapbtopatop 1
5 60080020000 Lnnunbka M6x92 2 14 25090010000 Tennousonatop 1
6 F7RTC CBeya 3aXkuraHms 1 15 75730020000 MpoKnazka noa Tenon30aATop 1
7 75490020000 [onoBKa umManHapa 1 16 60080030000 Lnnnbka M6x94 2
8 60280020000 LWTnoT 10x16 2 17 | 60050030000 Bont M8x45 4
9 75720120000 MpoKnagKa ronoBKU UMAMHAPA 1




Caampron

Power & force MNNoCTPUPOBaHHBIN KaTanor 3anacHbIX YyacTei Mogaenb: LM4622

2

Ne ApTukyn HanmeHoBaHue K-Bo No ApTUKYN HanmeHoBaHue K-80
1 25220010000 Kopnyc Bo3aywwHoro ¢punbTtpa 1 5 25300060000 PunbTp BO3AYLWHbIA NOPOSOH 1
2 25020010000 Haknagka kopnyca 1 6 25300010000 [ononHutenbHbl GUNLTP 1
3 60140020000 lalika M6 2 7 25120010000 KpbiwKa BO34yLWHOro puabTpa 1




Caampron
Power & force

Mﬂﬂl-OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTew

Mogens: LM4622

Ne ApTUKYN HanmeHoBaHue K-8o Ne ApTUKYN HanmeHoBaHue K-80
1 60150100000 lalika M6 2 3 75540020000 Fnywwutens 1
2 75530020000 KpblwKa raywutens 1 4 75740020000 MpoKnagka rywmtens 1




